
Page 1 of 8

RAINBOW UNICORN DRESS UP TABLE 

 

 810582248

BQ096-0774WH 



Page 2 of 8

Read all instructions before starting

Clear a flat covered space to begin

Two adults are recommended for assembly

Note that hardware required is provided for every step

Pay attention to orientation

Letter of the part corresponds to a sticker on the product

Number of the hardware corresponds to its number on the package

Helpful hints provided along the way

MAINTENANCE:

WARNINGS:

GENERAL BEST PRACTICES FOR ASSEMBLY:

Regularly check hardware and tighten if necessary.
  Use a dry clean cloth to dust or wipe up any spills.
                 Avoid exposure to water and fire. 

SUGGEST 2 ADULTS TO ASSEMBLE THIS PRODUCT IN AN OPEN AREA.

                                    DO NOT USE POWER TOOLS TO ASSEMBLE



Page 3 of 8

NO QTY DESCRIPTION
A 1pc
B 1pc
C 1pc
D 1pc
E 1pc
 F 2pcs
 G 2pcs
 H 1pc

2pcs
J 2pcs1pc
I

Left Mirror with Frame
Middle Mirror with Frame

Side Drawer Panel
Back Drawer Panel

Right Mirror with Frame
Table Top

Wooden Slider
Front Table Leg
Rear Table Leg

Front Drawer Panel

K 2pcs1pc Bottom Drawer Panel
1pc

M 2pcs1pc
L Wooden Handle

Stool Top
N 2pcs4pcs Stool Leg

A

F

F

G

G

H
I

I
J

K

L

M

B

C

D

E

N

N
N

N

O

O 2pcs1pc Stool Back



Page 4 of 8

1

NO QTYPARTS DESCRIPTION
1
2
3
4

   4pcs Metal Connector
  1pc Stopper

   6pcs Wooden Dowel
16pcs Bolt(6×35mm)

  3 x 2 4 x 8 5 x 8 6 x 8

5
6
7

 16pcs Spring Washer
 16pcs Flat Washer

6pcs Screw(4×30mm)
8 3pcs Screw(4×25mm)
9   8pcs Screw(3×20mm)
10
11
12

   3pcs Screw(3×10mm)
   8pcs Screw(3×8mm)

1pc Allen Wrench

N
N

N
N

M

1. Attach Stool Leg (N) to Stool Top (M) with Bolt (4), Spring Washer (5) and Flat Washer (6) using Allen Wrench (12). 
Fully tighten bolts. 
Note: The position of the Spring Washer (5) and Flat Washer (6) needs to be the same as the diagram below.
2. Insert Wooden Dowel (3) into the end of Stool Back (O) .
3. Align the Wooden Dowels (3) in the end of Stool Back (O) with the holes in the Stool Top (M) and slide into place. 
4. Secure the panels together with Screws (7) using Phillips screwdriver (not provided).  

12

45

7 7

3
3

6

M

7 x 2 12 x 1

O

•   A Phillips Screwdriver will be needed for assembly and is not provided.
•   Separate parts before starting



2
  4 x 8 5 x 8 6 x 8 12 x 1

Attach Front Table Leg (F) and Rear Table Leg (G) to Table Top (D) 
with Bolt (4), Spring Washer (5) and Flat Washer (6) using Allen 
Wrench (12) as show in the diagram. Fully tighten bolts.
Note: The position of the Spring Washer (5) and Flat Washer (6) 
need to be the same as the diagram below.

F

G

G

F

D
12

4
5

6

Page 5 of 8

 
8 x 23

Attach Wooden Slider (E) to Bottom of Table Top (D) 
with Screw (8) using Phillips screwdriver (not provided). 

D

E

8

8

8

8

Fully tighten screws.



Page 6 of 8

9

9
9

9

9 x 8
4

I

I
IJ

J

K

H
HH

8 x 1

8

L

1. Attach Wooden Handle (L) to Front Drawer Panel (H) with Screw (8) using Phillips screwdriver (not provided). 
Fully tighten screw.

2. Attach Back Drawer Panel (J) and Front Drawer Panel (H) to Side Drawer  Panel (I) with Screw (9) using Phillips 

    3. Slide Bottom Drawer Panel (K) into the grooves of Front Drawer Panel (H) and Back Drawer Panel (J) until it is 
fully inserted into the groove of Side Drawer Panel (I).

4. Place the remaining Side Drawer Panel (I) into position so Bottom Drawer Panel (K) is fully inserted into the groove. 
    Attach Side Drawer Panel (I) to   Back Drawer Panel (J) and     Front Drawer Panel (H) with Screw (9) using Phillips 

5

1

1 1

1
10

10

10

1 x 1 10 x 3 

K

G

G

F

F

J

J

E E

E

1. Slide the Stopper (1) over the Wooden Slider (E). 
    Note: The flat side of the Stopper should face the assembled Drawer.
2. Secure the Stopper to the Back Drawer Panel (J) with Screws (10)  
    screwdriver (not provided). Fully tighten screws.
    Note: Ensure the bottom of the assembled drawer is on top as shown before 
              attaching the the Stopper (1)

screwdriver (not provided). Fully tighten screws. 

using Phillips 

screwdriver (not provided). Fully tighten screws. 



Page 7 of 8

7

3 x 2 7 x 2 
6

B

B

C

G
GF

F

3 x 1 7 x 1

D

D

7

7

7

3

3

3

1. Insert Wooden Dowel (3) into the holes of Middle Mirror 
    with Frame (B).
2. Align the Wooden Dowels (3) in Middle Mirror with 
    Frame (B) with the holes in Table Top (D) and lower 
    into place. 
3. Secure Table Top (D) to Middle Mirror with Frame (B) 
    with Screw (7) using Phillips screwdriver (not provided). 
    Fully tighten screws.

1. Insert Wooden Dowel (3) into the holes of Right Mirror with 
    Frame (C).
2. Align the Wooden Dowels (3) in Right Mirror with Frame (C) 
    with the holes in Table Top (D) and lower into place. 
3. Secure Table Top (D) to Right Mirror with Frame (C) with 
    Screw (7) using Phillips screwdriver (not provided). 
    Fully tighten screws.



Page 8 of 8

9

B

B

C

C

2 x 4 11 x 8 

D
7

3

A

11

1111

11
11

2

2

2

2

2

8 3 x 1 7 x 1

1. Insert Wooden Dowel (3) into the holes of Left Mirror with 
    Frame (A).
2. Align the Wooden Dowels (3) in Left Mirror with Frame (A) 
    with the holes in Table Top (D) and lower into place. 
3. Secure Table Top (D) to Left Mirror with Frame (A) with 

1. Secure Metal Connector (2) to Back of Right Mirror with 
    Frame (C) and Back of Middle Mirror with Frame (B) with 

NOTE: One hole of Metal Connector (2) is secured onto the 
Back of Right Mirror with Frame (C) and the other hole is
secured onto the Back of Middle Mirror with Frame (B).
2. Secure Metal Connector (2) to Back of Left Mirror with 
    Frame (A) and Back of Middle Mirror with Frame (B) with 

NOTE: One hole of Metal Connector (2) is secured onto the 
Back of Left Mirror with Frame (A) and the other hole is
secured onto the Back of Middle Mirror with Frame (B).

Assembly is now complete.

A

    Screw (7) using Phillips screwdriver (not provided). 
    Fully tighten screws.

    Screw (11) using Phillips screwdriver (not provided). 
    Fully tighten screws.

    Screw (11) using Phillips screwdriver (not provided). 
    Fully tighten screws.

B
C

11

2

11

11

A
B

BC A

2

2 2

2


